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Download:https://drive.google.com/drive/folders/OB75b5xY LjSSNY 2hwM 3Z00Td2SUk 2usp=sharingQUESTION 87A
budget-conscious, mid-sized business constantly looks to repurpose equipment. They purchase 20 new 1 TB drives to extend an
existing logical space by 20TB. Which storage provisioning technique allows the corporation to accomplish these tasks?A.  disk
poolsB. thickC. RAIDD. thin-thickAnswer: AQUESTION 88A company is moving its development operations into the cloud
and wants a solution where the devel opers are able to develop, run, and manage web applications without having to manage the
development environment. Which type of solution should the company choose to fulfill these requirements?A. Softwareasa
ServiceB. Infrastructure asaServiceC. Platform asaServiceD. Application Delivery as a ServiceAnswer: AQUESTION 89
Which purpose of deploying Cisco Intercloud Fabric for Businessistrue?A. Manage Fibre Channel zoning and other fabric
policies.B. Automate the deployment of virtual machines by providing a self-service catalog.C.  Unify Cisco UCS Manager
domains under a single software management platform.D. Migrate virtual workloads between private and public clouds.E.
Implement an IT storefront for ordering business services.Answer: BQUESTION 90Two tenants of a shared storage infrastructure
plan to combine resources to reduce costs. The tenants must maintain isolation for security purposes. Multiple identical Fibre
Channel 1Ds must be used on the same physical storage network. Which option must be configured for each tenant to enable this
plan?A. separate VSANSB. separate VRF instancesC. separate vFiler instancesD. separate zonesAnswer: DQUESTION 91A
company wants to replace its customer relationship management system with a subscription- based web application that is hosted by
athird party and is accessible from anywhere on the Internet. Which type of product meets these requirements?A. Softwareasa
ServiceB. Platform asaServiceC. Infrastructure asa ServiceD. Application Delivery as a ServiceAnswer: BQUESTION 92
Cisco UCS and VMware vCenter must be connected for management integration and network communication with the host. To
accomplish thiswhat must be establishedA. The SSL key must be registered with the external visualization managerB. The
VMwarePassThrough Ethernet Adapter Policy must be set on each host so that it can communicateC. The extension key must be
registered with the external visualization managerD. ESXi hosts must first be added to the DV SAnswer: CQUESTION 93Which
technology does an engineer deploy to separate a single physical switch into multiple logical contexts?A. GVXLANB. VDCC.
VPCD. VRFE. VLANAnswer: BQUESTION 94A large organization has purchased its first Cisco UCS B-Series system. This
system connects to the existing infrastructure, and engineers must rack and stack the new hardware. Inventory shows that there are
12 blades, 2 chassis, and all of the cabling and FEX cards that are required for those chassis. Which vital component is required
before the engineers can complete their task?A.  Cisco UCS Fabric InterconnectsB.  Cisco MDS switchesC.  Cisco UCS
ManagerD. Cisco Nexus switchesAnswer: CQUESTION 95A small start-up wantsto maximize its 1T budget and intends to use
the cloud for its new service. The executive staff expect a one-year development period followed by arapid growth curve. Which
cloud deployment method is most appropriate for the architectural design?A. hybrid-privateB. communityC. publicD. private
Answer: AQUESTION 96A software development company is using an automation tool to create thousands of virtual machines to
test daily software builds. When the tests are finished, the virtual machines are automatically deleted. Which characteristic of cloud
computing makes this feature achievable?A. elasticityB. service catalogC. resource poolingD. multitenancyAnswer: C
QUESTION 97An administrator is evaluating different block storage protocol choices. Which configuration areais applicable when
using iSCSI?A. VLANB. switch featurelicensingC. software-based initiatorsD. WANAnswer: BI!!RECOMMEND!!!
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